
W2SS



GUDSMITH

• PARTS LIST

• SCREW LIST

ITEMS LIST QTY

1

2

3

4

5

6

7

8

9

11

12

13

14

15

TOP PANEL

BOTTOM PANEL

RH MIDDLE PANEL

CV 

Back panel –side SIDE LH

Back panel-BTM

RH FIXED SHELF 

SHUTTER 

Back panel-TOP

SIDE RH

Skirting 

350MM BMC

RH TOP PANEL RH drawer side

1 PC

1 PC

1 PC

1 PC

1PCS 

1 PC

3 PCS

2 PC

1 PC

2 PC

1 PC

1 PC

1 PC

1 PC

HARDWARE

A

B

C

D

E

F

G

M8 X 16 SCREW

M5 X 13  SCREW

MINI FIX
A1 A2

M8 X 40 DOWELS

M6 X 32 SCREW

16 CRANK HINGES

38
SET

44PCS

4 PCS

40PCS

12 PCS

1 SET

I DOOR STOPPER

3 SET

2 PCS

1 PC16

LH drawer side 

H Hanger rod 1

Hanger bracket 2 PCSJ

Hanger wooden 2 PCSk

17 1 PCDrawer back

18 1 PCbottom

19 1 PCfascia

m Allen key m4 1 PCS

N M6X25 5 NOS

10 1 PCLH SHELF

P.2 

L WOODEN KNOB 3 PCS

PIN BUSH 6 NOS



3

6

7

8

9
2

1

11

8

19

18

16

17

15

GUDSMITH

4

14

10

5

12

13

19

P.3 



A1

GUDSMITH

2

6

5
1

P.4 



GUDSMITH

3

4

P.5 



GUDSMITH

11

11

15

16

17

16

15

P.6



GUDSMITH

15

16

17

18

15

16

17

19

18

P.7



GUDSMITH

3

2

11

6

3
2

11

4

10

7

P.8



GUDSMITH

11

6

2

3

4

14

12

7

9

10

13

2

3

6

12

14

13

4

11

10

1

9

7

5

P.9



GUDSMITH

P.10




